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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 22515 =72 [1%]
2) 5.99 +7.15 =7 [1%]
3) 111.1-9.99 = ? [1%]
4) 575x3.5=2 [1%]
5) 5x34.64x02=7? [1%]
6) 3.311+77=2? [1%)]
7) 19+7x91=2? [1%]
8) 221 +0.013 =2 [1%]
9) 555-444x 1.1 =2 [1%]
m)&%+%=? [1%]
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4 6 5 7 0
11) Evaluate 15><35>< > ><12. [1%)]

(Express the answer in its simplest form.)

sves 4 6 5 7 o
n+%15><35><2><120<ﬁ%suﬁﬁ§ﬁ$wmo>

1,1, 1 .1 .1 0
12) Evaluate 3+6+12 +24+48' [1%]

(Express the answer in its simplest form.)

> 1.1 1 1 1 e AT 5 25 o
=T & 3te 173 T34 T 25 ° ExuUBESERT. )
13) Evaluate 4%+ 0.75% X 2%. [1%]

(Express the answer in its simplest form.)

- A 1 ° 1
=T & 417 0.75% X ZZ o (EEUBHHERT. )
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14)

Evaluate (%—%) =~ 80% . [1%]

(Express the answer in its simplest form.)

=] (% _%) + 80% . ExUBEIBRT. )

15)

Evaluate 24%% X (7%—4.5). [1%]

(Express the answer in its simplest form.)

S 24%% X (7%—4.5) o ERUBMABET. )

16)

There are 50 pens. 24 of them are red pens. What [2.0%]
percentage of the pens are red?

B50 XIEFE, H 24 TRABIETE. #IBFRT
EHERERTENBTZH?
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17) After eating 20% of a bag of candies, there are 60 [2.1%]

candies left. How many candies were there in the bag
originally?

—EERWIZE 20% &, BFT 60 fii, ZEHERE
Bx DR

18) John can run 2.5 m in a second. How many minutes [2.2%]
does he need to run 105 m?

/AR 1 FPRTIARE 2.5 %, B8 105 REZEZDoiE?
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19) There are some 10¢ coins which worth $129.40 in [2.3%]
total. The money is used to buy 2 cups of ice cream
which costs $9.50 each. If the rest of the money is
then shared among 8 people equally, how much
does each person get?

HF—E—fFEE, EME{E 12945, BiEEEE 2#
B{E 9.5 TRIEH1E, FIEATRHEEIN 4 SEAN
BEAREZDIT?

20) There were 140 kg of vegetables. 18% of them were [2.4%]
sold in the morning and 30% of them were sold in
the afternoon. How many fewer kilograms were sold
in the morning than in the afternoon?

BExk 140 2, EFEHEHA 18%, THFELHE
A 30%. M EFLHTFIERERESVART?
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21) A fish tank is 40 cm long and 25 cm wide. The depth  [2.5%)]
of water in the tank is 30 cm. If the water in the tank
Is poured into glasses of 600 mL, at least how many
glasses are needed to hold all the water?

—EAER 40 EX, B 25 [ExX, K4irE 30 EX.
HHINAIIZERN/KBEINBZESR 600 EHAMMF, EEH
LK VERANRZTDE?

22) A rectangular water tank is 0.8 m long, 0.5 m wide, [2.6%)]
and 0.4 m tall. The depth of water in the tank is 16
cm. If 5 iron plates are put into the tank, the water
level will rise 10 cm. What is the volume of each iron
plate in cm3?

RAFEXKFER 08K, 05X, § 04 %, EmE
B 16 [BAFRIK. BEMNSREE®E, KAELEHAT 10/E
XK, BERERNEERES DI FEX?
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23) There are 6 women and 3 men in a company. The [2.7%]
average height of the women is 166.3 cm and the
average height of the men is 170.2 cm. What is the
average height, in cm, of all the people in this company?

ERElE 6 BXBEIM3 ZBET. EMXEIRTE
HMEER 1663 EX, MEETINTHEEE 170.2 E
K. BMRIMEANEHNSETESDEKR?

24) Solve the equation for x. [2.8%]

X x HIE.

(%+ 18%%)

X  100%
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25) Simplify ﬁggg . [2.9%]

2499 4= an
;l% 4557 m’]gﬂ&' FEﬂ ©

26) 0.444 x 5.4 + 0.23 X 8.88 =7 [3.0%]
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27) 1+4+7 +10+ ... + 391 + 394 + 397 =? [3.1%)]

28) In the figure, F and G are the mid-points of CD and [3.2%)]
DE respectively. What fraction of the regular pentagon
Is not shaded?

Bl Ff1 GORIE CDM DEHISBE, REKRE
RS EERETRR& ) 247
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29) The figure is made of 5 semi-circles. AB = 28 cm. [3.3%)]

Find the perimeter of the whole figure in centimetres.
22

(m = -

TEZH 5 EFXEFRBERE, 4B = 28 EX. E
EHREAREZDEXK?
22

(m = -

30) When 199, 297 and 395 are divided by the same [3.4%)]

divisor, their remainders are all equal. Find the largest
possible divisor.

PLEES 199, 297, 395, BEHE—IE, EEHFE X

2507

P10




MathConceptition 2018

31) If 1 = 22 find the value of a. [4.0%]
e 41
1
1+ ——
a +?
240 1 = 22, sk a ffE.
1 41
1
1+ ——
a +?
32) Find the units digit of 82°'8, [4.1%]

82018 PRI % )7

P11
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33)

Using 4 different digits from 1 to 9, form the largest [4.2%)]
4-digit number which is divisible by 4, 6, and 21.

M1TEIFEN A EARNEEAAKR—EMALE, 7]
4. 6. 21 ZfR, EHEAOMERAEZD?

34)

A square-shaped picture is placed in a frame of [4.3%]
uniform width. The area of the frame is 149.76 cm?.

The perimeter of the picture is 87.2 cm. Find the

width of the frame in cm.

—RIEAFHMERER—BARAE—BNEEN, £E
PEEE 149.76 cm?, HHEHARE 87.2 cm. =
ENEEREZ D cn?

P12
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34
35) The product of 99

What is the digit of the 201 8" decimal place?

and 0.12 is a repeating decimal. [4.4%)]

3% F0.12 MAEE—EEE N, AN %E
2018 AL R EEEEF?

[4.5%]

36) 2017 X 2017 2016 x 2016 + 2015 X 2015 _ 2014 x 2014 +...+3 X3 2X2 + 1 x1 _»
2018 2018 2018 2018 2018 2018 2018

P13
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37) n machines can produce x boxes of goods in m days. [4.6%]
How many days does it take for (n + x) machines to
produce x boxes of goods?

nEeuEAmRAIUEEXHER, IBE+x) 8
MREEZDPXAGEEH xBFERR?

38) Peter used 4 different digits to form a largest 4-digit [4.7%]
number and a smallest 4-digit number. The sum of
the two 4-digit numbers formed is 11698. What is
the largest 4-digit number formed?

ENEARREF, AT AR KR M A E MR
NI AL S, EMEMNAEZMEZT11698, ZHR K
R E R % D72

P14
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39) In a field, each cow consumes the grass at a constant [4.8%)]
rate while the grass grows at a constant rate every
day. If 11 cows consume the whole field in 7 days
and 21 cows consume the whole field in 3 days, how
many cows would be needed to consume the whole
field in 15 days?

HigEE—FEih, S€F8XK—EMHENE, &
BRER—TEHME. 1M ELK 7 RELTE, 218
3 XEETE. MEVDEHN 15 REETE?

40) Bobby starts walking back and forth from A to B [4.9%)]
while Peter starts walking back and forth from B to A
at the same time. The speed of Bobby is 1.25 times
that of Peter. If their first meeting point and the
second meeting point are 200 m apart, what is the
distance, in metres, between A and B?

NBFIKEMARBBESRMR AL B M, /)R
HEE 2 KER 1.25 15, FEH HFHBEEEIIZIR
B, MR-ZANHFE—REBEEME - RBEEEEE
200K, A. BWithfHEE & K ?

End of paper
£E57T

P15
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